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_______1.
Which items of trade increased tremendously in importance during the age of exploration?

A. gold, slaves, and spices

B. gold, wool, and spices

C. gold, pottery, and wool

D. Spices, wool, and cloth

_______2.
The influx of spices and precious metals into Europe:

A. strengthened the economy in every European nation

B. contributed to an increase in the wages of most skilled workers
C. caused great price inflation

D. both B and C

_______3.
The doctrine of “justification by faith alone” was proclaimed by:

A. Hus

B. Zwingli

C. Luther

D. Erasmus

______4.
Which factors contributed to lay criticism of the church?

A. new postal systems and the growth of cities

B. the printing press and a rise of universities

C. new wealth and more traveling

D. all of the above

_______5.
Luther’s 95 theses:

A. caused his immediate excommunication

B. were designed to reconcile his ideas with those of Zwingli

C. challenged the selling of indulgences

D. all of the above

_______6.
Zwingli’s reform guidelines were simple:

A. Salvation was to be based on faith alone

B. Whatever lacked literal support in scripture was to be neither believed or practiced

C. Reformers must only baptize adults

D. All of the above

_______7.
The council of Trent did all of the following except:

A. recognized the importance of humanist education for the clergy and approved clerical marriages

B. approved the teaching of Aquinas

C. took steps to curtail the sale of indulgences

D. took steps to curtail the sale of religious offices

_______8.
The Protestant reformation called for an end to all of the following except:

A. the worship of saints

B. the sale of indulgences

C. monasteries

D. prayer

________9.
Loyola advocated:

A. The Spanish Inquisition

B. religious and moral self-discipline and submission to the authority of the Catholic church

C. a sympathetic acceptance of Protestantism

D. both A and B

_______10.
Protestant reformers had the most in common with which of the following groups?

A. Humanists

B. Scholastics (like Thomas Aquinas)

C. Mystics

D. Catholics

_______11.
The factors that led to the emergence and success of Protestantism included the:

A. decline of the church and the growth of secular and humanistic feeling in Europe

B. the spread of lay religion

C. the rise of monarchs who wished to control everything in their kingdoms, including the church

D. all of the above

_______12.
From his first public appearance after 1517, Luther won ardent supporters because of:

A. his piety as a monk

B. his scholarship as a professor

C. resentment in Germany against the emperor and the Pope

D. his sweeping reputation of resisting authorities

_______13.
In its statement of Catholic doctrine, the Council of Trent made ________concessions to the Protestants.

A. no

B. one

C. some

D. many

_______14.
The reformation in England was peculiar in that its government broke with the Catholic church before:

A. Henry was properly divorced

B. Henry was properly remarried

C. Henry was entitled “Defender of the Faith”

D. Adopting any Protestant principles

_______15.
In the first half of the 16th century, the dominant Protestant force in Europe was:
A. Lutheranism

B. Calvinism

C. Anabaptism

D. None of the above

_______16.
In the last half of the 16th century, the dominant Protestant force in Europe was:

A. Lutheranism

B. Calvinism

C. Anabaptism

D. None of the above

_______17.
Which of the following was the first legal document to recognize Calvinism as a legitimate religion?

A. Peace of Augsburg

B. Edict of Nantes

C. Treaty of Westphalia

D. None of the above

_______18.
The Catholic movement corresponding to the rise of Protestantism is known as the:

A. Council of Constance

B. Counter Reformation

C. Concordat of Bologna

D. Council of Trent

_______19.
Which of the following were results of the vacillating policies of Catherine d’ Medici and the religious wars in France?

A. the instability and declining economic power of France

B. Continuing conflict between the Guises, Chatillons, and Bourbons

C. The declining political power of France

D. All of the above

_______20.
The Elizabethan settlement:
A. did not satisfy anyone very well in England

B. combined Catholic artwork with Protestant theology

C. combined Protestant artwork with Catholic theology

D. led to a civil war that threatened England’s existence

E. Allowed the English to choose any religion as long as they were loyal to the queen

Part Two:  Fill in the chart on the next page.

